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HEALTH OFFICER IN TAMIL NADU PUBLIC HEALTH SERVICE 
 

1. Sir Stafford Cripps, represented the War cabinet of 
a. Labour party   b. Conservative party  c. Democratic party 
d. Liberal party   e. Answer not known 
rh; ];lh/Nghh;l; fphpg;]; ______ flrpapd; Nghh; mikr;ruitapd; gpujpepjpahf ,Ue;jhh;. 
a. njhopyhsh; fl;rp    b. goikthj fd;rh;Ntbt;fl;rp 
c. [dehaf fl;rp    d. ypguy; fl;rp 
e. tpil njhpatpy;iy 
 

2. Who among the following brought out the weekly newspaper ‘Al Hilal’? 
a. Abul Kalam Azad  b. Hasan Imom  c. Muhammad Ali Jinnah 
d. Ajmal Khan   e. Answer not known 
gpd;tUgth;fspy; ahh; ‘my; `pyhy;;’ vd;Dk; thug; gj;jphpifia ntspapl;lJ? 
a. mGy; fyhk; Mrhj;  b. `hrd; ,khk;  c. KfkJ myp [pd;dh 
d. m[;ky; fhd;   e. tpil njhpatpy;iy  

 
3. Stri Purush Tulana was written and published by 

a. Pandita Ramabai     b. Begum of Bhopal   
c. Begum Rokeya Sakhwat Hussain  d. Tarabai Shinde 

e. Answer not known 
];jphp GU~; Jyhdh vd;fpw Gj;jfj;ij vOjp ntspapl;lth; 
a. gz;bj ukhgha;     b. Ngfk; Nuhfpah rhf;thl; `_ird; 
c. Ngfk; Nuhfpah rhf;thl; `_ird;  d. jhuhgha; ~pz;Nl    
e. tpil njhpatpy;iy 
 

4. Which one of the following pair is not correct? 
a. Cripps Mission – 1942    b. Pakistan Resolution – 1940 
c. Gandhi-Irwin pact – 1931   d. Nehru Report – 1946 
e. Answer not known 
gpd;tUtdtw;wpy; vJ nghUj;j kw;wjhf cs;sJ? 
a. fphpg;]; FO – 1942    b. ghfp];jhd; jPh;khdk; - 1940 
c. fhe;jp ,h;tpd; xg;ge;jk; - 1931   d. NeU mwpf;if – 1946 
e. tpil njhpatpy;iy 
 

5. When did the British Parliament enact the Indian Independence Act? 
a. March 1947   b. June 1947   c. July 1947 

d. August 1947   e. Answer not known 
gphpl;b~; ehlhSkd;wj;jpy; ,e;jpar; Rje;jpur; rl;lk; vg;nghOJ ,aw;wg;gl;lJ? 
a. khh;r; 1947    b. [_d; 1947   c. [_iy 1947 
d. Mf];l; 1947   e. tpil njhpatpy;iy 
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6. Who launched the independent labour party in 1936? 
a. Subhas Chandra Bose  b. Bhagat Singh  c. B.R. Ambedkar 

d. ChandraShekhar Aza  e. Answer not known 
1936y; Rje;jpu njhopyhsh; fl;rpiaj; njhlq;fpath; ahh;? 
a. Rgh~; re;jpu Ngh];  b. gfj; rpq;   c. gp.Mh;. mk;Ngj;fh; 
d. re;jpuNrfh; Mrhj;  e. tpil njhpatpy;iy 
 

7. ‘Atmiya Sabha’ was established by 
a. Swami Vittal Maharaj  b. Raja Ram Mohan Roy c. Dayanand Saraswathi 
d. Aurobindo Ghosh  e. Answer not known 
‘Mj;kpa rgh’ it njhlq;fpath; 
a. Rthkp tpl;ly; k`huh[;  b. uh[h uhk; Nkfd;uha; c. jahde;j; ru];tjp 
d. mugpe;Njh Nfh~;   e. tpil njhpatpy;iy 
 

8. At first who translated a few parts of Tirukkural in English? 
a. Constantine Josep Beschi   b. Francis Whyte Ellis 
c. George Uglow Pope    d. Nathaniel Edward Kindersely 
e. Answer not known 
jpUf;Fwspd; rpy; gFjpfis Kjypy; Mq;fpyj;jpy; nkhop ngah;f;fj; Jzpe;jth; ahh;? 
a. fhd;];ld;ild; N[hrg; ng];fp   b. gpuhd;rp]; xapl; vy;yp]; 
c. [hh;[; cf;Nyh Nghg;    d. Nejdpay; vl;th;l; fpz;lh;];yp 
e. tpil njhpatpy;iy 
 

9. The word ‘Parivardini’ in Kudimiyanmalai Inscription denotes 
a. A teacher    b. A raga   c. Veena 

d. Mridangam   e. Answer not known 
FLkpahd;kiy fy;ntl;by; fhzg;gLk; ‘ghpthjdp’ vd;w nrhy; vijf; Fwpg;gpLfpd;wJ? 
a. xU Mrphpah;   b. xU uhfk;   c. tPiz 
d. kpUjq;fk;    e. tpil njhpatpy;iy 
 

10. Which one was not included in the forehead ornaments of the women during the 
sangam period? 
a. Vayanthakam   b. Pullagam   c. Makarappakuvai  
d. Muttarai    e. Answer not known 
fPo;fz;ltw;wpy; rq;f fhy ngz;fs; new;wpapy; mzpAk; eiffspy; mlq;fhjJ vJ? 
a. tae;jfk;    b. Gy;yfk;   c. kfugFit 
d. Kj;jhiu    e. tpil njhpatpy;iy 
 

11. In which major Rock Edict of Asoka, the reference about the kings of Cheras, Cholas 
and Pandya’s are mentioned? 
a. XIII Rock edict   b. I Rock edict  c. VI Rock edict 
d. IX Rock edict   e. Answer not known 
mNrhfhpd; ve;j Kf;fpa ghiw Mizapy; Nru> Nrho kw;Wk; ghz;ba kd;dh;fis 
gw;wpa Fwpg;G ,lk;ngw;Ws;sJ? 
a. 13-tJ ghiw Miz  b. 1-tJ ghiw Miz c. 6-tJ ghiw Miz 
d. 9-tJ ghiw Miz  e. tpil njhpatpy;iy 
 

12. ______ inscription of the Cholas mentioned about the administration in a village. 
a. Utteramerur inscription    b. Bhattiprolu inscription 
c. Meenakshipuram inscription   d. Tiruvisalur inscription 
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e. Answer not known 
______ fy;ntl;L Nrhoh;fspd; fpuhk eph;thf Kiwia gw;wp Fwpg;gpLfpwJ. 
a. cj;jpuNk&h; fy;ntl;L    b. gl;bGNuhY fy;ntl;L 
c. kPdhl;rpGuk; fy;ntl;L    d. jpUtprY}h; fy;ntl;L 
e. tpil njhpatpy;iy 
 

13. The word ‘Yavana Priya’ denotes 
a. Pepper    b. Turmeric   c. Ginger 
d. Cardamom   e. Answer not known 
‘atd gphpah’ vd;w nrhy; _____ f; Fwpf;fpd;wJ. 
a. kpsF    b. kQ;rs;   c. ,Q;rp 
d. Vyf;fha;    e. tpil njhpatpy;iy  
 

14. Padaiyachiyar were a class of 
a. Musicians    b. Dancers   c. Hunters 
d. Militants    e. Answer not known 
gilahl;rpah; _____ tFg;gpdh; Mth;. 
a. ,irf; fiyQh;fs;  b. eldf; fiyQh;fs; c. Ntl;ilf;fhuh;fs; 
d. Nghuhspfs;   e. tpil njhpatpy;iy 
 

15. Match the following land divisions with animals: 
A. Kurinji   1. Sheep 
B. Palai   2. Buffalo 
C. Mullai   3. Tiger 
D. Marutham  4. Jackal 
 A B C D 
a. 4 3 2 1 
b. 2 1 3 4 
c. 3 4 1 2  
d. 3 2 1 4  
e. Answer not known 
epyg;gFjpfis mNjhL njhlh;Gila tpyq;FfSld; nghUj;Jf. 
A. FwpQ;rp  1. ML 
B. ghiy  2. vUik 
C. Ky;iy  3. Gyp 
D. kUjk;  4. ehp 

A B C D 
a. 4 3 2 1 
b. 2 1 3 4 
c. 3 4 1 2  
d. 3 2 1 4  
e. tpil njhpatpy;iy 
 

16. Where did the oldest Microlithic relics find in TamilNadu? 
a. Chengalpattu   b. Thanjavur   c. Tiruvannamalai 
d. Thoothukudi   e. Answer not known 
jkpofj;jpy; vq;F fhyj;jhy; Ke;jpa Ez;fw;fhy epidTr; rpd;dq;fs; fpilj;jd? 
a. nrq;fy;gl;L   b. jQ;rhT+h;   c. jpUtz;zhkiy 
d. J}j;Jf;Fb   e. tpil njhpatpy;iy  
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17. Which of the following was not a leader of the Mullai land? 

a. Annal    b. Tonral   c. Nadan 
d. Verpan    e. Answer not known 
fPo;fz;ltw;wpy; Ky;iy epy jiytd; my;yhjth; ahh;? 
a. mz;zy;    b. Njhd;wy;   c. ehlhd; 
d. Ntw;gd;     e. tpil njhpatpy;iy 
 

18. The six stages of Hero stone worship were mentioned in which literature? 
a. Silapathikaram   b. Manimekalai  c. Thirukkural 
d. Tolkappiyam   e. Answer not known 
eLfy; topghl;bd; MW gbepiyfis Fwpg;gpLk; E}y; vJ? 
a. rpyg;gjpfhuk;   b. kzpNkfiy  c. jpUf;Fws; 
d. njhy;fhg;gpak;   e. tpil njhpatpy;iy   
 

19. ‘Alvila Piramana isaivu tittu’ means 
a. Export duty    b. Import duty  c. Tax on slaves 
d. Sales document of the slaves  e. Answer not known 
my;tpis gpuhkz ,irT jpl;L vd;gJ 
a. Vw;Wkjp thp    b. ,wf;Fkjp thp  c. mbik thp 
d. mbik tpw;gid tpiy Mtzk; e. tpil njhpatpy;iy 
 

20. The existence of barter system during Sangam period is mentioned in  
a. Kurunthogai   b. Pathitrupatthu  c. Paripadal 
d. Kalithogai    e. Answer not known 
rq;f fhyj;jpy; gz;lkhw;W Kiw ,Ue;J vd;gij vjpy; Fwpg;gplg;gl;Ls;sJ? 
a. FWe;njhif   b. gjpw;Wg;gj;J  c. ghpghly; 
d. fypj;njhif   e. tpil njhpatpy;iy 
 

21. Who established the earliest Brahmodayas in Tondaimandalam? 
a. Nandivaraman I   b. Nandivarman II  c. Nandivarman III 
d. Vishnugopa   e. Answer not known 
Muk;g fhy gpuk;kNjaq;fis njhz;il kz;lyj;jpy; Vw;gLj;jpath;? 
a. Kjyhk; ee;jpth;kd;  b. ,uz;lhk; ee;jpth;kd; c. %d;whk; ee;jpth;kd; 
d. tp~;Z Nfhgd;   e. tpil njhpatpy;iy 
 

22. Which of the following was considered as the foremost virtue of Tamil women? 
a. Kindness    b. Charity   c. Chasity 
d. Braveness    e. Answer not known 
gpd;tUgitfspy; jkpo; ngz;fSf;F ,Uf;f Ntz;ba Kf;fpakhd ew;gz;ghf 
fUjg;gLtJ vJ? 
a. md;G    b. mwk;   c. fw;G 
d. tPuk;    e. tpil njhpatpy;iy 
 

23. The term ‘Human Resource’ refers to  
a. Investment on poor people   b. Expenditure on agriculture  
c. Investment on assets    d. Collective abilities of people 
e. Answer not known 
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‘kdpj tsk;’ vDk; nrhy; Fwpg;gpLtJ 
a. Vio kf;fs; kPjhd KjyPL   b. Ntshz;ik kPjhd nryT 
c. nrhj;Jfs; kPjhd KjyPL   d. xl;Lnkhj;j kf;fspd; jpwik 
e. tpil njhpatpy;iy 
 

24. _____ is not an industrial developing Agency. 
a. TIDCO    b. SIDCO   c. MEPG 

d. SIPCOT    e. Answer not known 
,J xU njhopy;Jiw tsh;r;rp epWtdk; my;y? 
a. TIDCO    b. SIDCO   c. MEPG 

d. SIPCOT    e. tpil njhpatpy;iy  
 

25. Match correctly the expenditure with their corresponding items: 
A. Capital expenditure  1. Energy and Transport development 
B. Revenue expenditure  2. Bridges and Hospitals construction 
C. Sectoral expenditure  3. Salaries Pension and interest 
D. Deferred expenditure  4. Advance payment for goods and services 
 A B C D 
a. 3 2 1 4 
b. 2 3 1 4 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
nrytpdq;fis mtw;wpd; njhlh;Gila nghUl;fSld; rhpahfg; nghUj;jTk;. 
A. %yjdr; nryT   1. Mw;wy; kw;Wk; Nghf;Ftuj;J tsh;r;rp 
B. tUtha;r; nryT   2. ghyq;fs; kw;Wk; kUj;Jtkisf; fl;Lkhdk; 
C. Jiwr; rhh;e;j nryT  3. rk;gsk;> Xa;T+jpak; kw;Wk; tl;b 
D. xj;jpitf;fg;gl;l nryT  4. nghUs;fs; kw;Wk; NritfSf;fhf Kd;$l;bNa 

       gzk; nrYj;Jjy; 
 

26. Which district of Tamil Nadu has not yet been bifurcated? 
a. Vellore    b. Kanchipuram  c. Kanyakumari 

d. Dharmapuri   e. Answer not known 
jkpo;ehl;bd; ve;j khtl;lk; ,d;Dk; ,uz;lhfg; gphpf;fg;gltpy;iy? 
a. NtY}h;    b. fhQ;rpGuk;   c. fd;dpahFkhp 
d. jUkGhp    e. tpil njhpatpy;iy 
 

27. Expansion for TNUHP 
a. Tamil Nadu Urban Health Care Project 
b. Tamil Nadu Urban Health Programme 
c. Tamil Nadu Under Health Programme 
d. Tamil Nadu Urban Health Proposal 
e. Answer not known 
TNUHP tphpthf;fk; 
a. Tamil Nadu Urban Health Care Project 
b. Tamil Nadu Urban Health Programme 
c. Tamil Nadu Under Health Programme 
d. Tamil Nadu Urban Health Proposal 
e. tpil njhpatpy;iy 
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28. Who established the Tamilarasu Party in the year 1947 for the welfare of the Tamil 
People? 
a. Ma. Pae. Sivagnanam  b. S.B. Athithan  c. E.V.K. Sampath 
d. Kannadasan   e. Answer not known 
1947k; Mz;L jkpo; kf;fs; eyd; rhh;e;j jkpouR fl;rpiaj; njhlq;fpath;? 
a. k.ngh. rptQhdk;   b. S.B. Mjpj;jd;  c. <.nt.Nf. rk;gj; 
d. fz;zjhrd;   e. tpil njhpatpy;iy 
 

29. TamilNadu Women Welfare and Development Corporation was established in the year 
a. 1986  b. 1987 c. 1988  d. 1989 e. Answer not known 
jkpo;ehL kfsph; ey Nkk;ghl;L epWtdk;> ve;j Mz;L njhlq;fg;gl;Ls;sJ? 
a. 1986  b. 1987 c. 1988  d. 1989 e. tpil njhpatpy;iy 
 

30. Match the following: 
A. 1953   1. Mandal Commission 
B. 1979   2. Kalelkar Commission 
C. 1976   3. National Backward class Finance and Development 
     Corporation 
D. 1992   4. Protection of Civil Rights Act 
 A B C D 
a. 4 2 1 3 
b. 4 3 2 1 
c. 2 1 4 3 
d. 2 4 1 3 
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;Jf: 
A. 1953  1. kz;ly; fkp~d; 
B. 1979  2. fNyy;fh; fkp~d; 
C. 1976  3. Njrpa gpw;gLj;jg;gl;l tFg;gpdUf;fhd epjp kw;Wk; tsh;r;rp 

     epWtdk; 
D. 1992  4. rptpy; chpikfs; ghJfhg;Gr; rl;lk; 
 A B C D 
a. 4 2 1 3 
b. 4 3 2 1 
c. 2 1 4 3 
d. 2 4 1 3 
e. tpil njhpatpy;iy 
 

31. Political parties are allotted symbols by 
a. The Government of India   b. The Election Commission 

c. The Constitution of India   d. Party leaders 
e. Answer not known 
murpay; fl;rpfSf;Fr; rpd;dq;fis xJf;FtJ 
a. ,e;jpa murhq;fk;   b. Njh;jy; Mizak; c. ,e;jpa murpayikg;G 
d. fl;rpj;jiyth;fs;   e. tpil njhpatpy;iy 
 

32. Who acts as the Chairman of the Tamil Nadu State Planning Commission? 
a. Minister of Planning   b. Secretary of the Planning Commission 
c. Minister of State of Planning  d. Chief Minister 
e. Answer not known 
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jkpo;ehL khepyj; jpl;lf; FOtpd; jiytuhfr; nray;gLgth; 
a. jpl;lkply; mikr;rh;   b. jpl;lkply; Mizaj;jpd; nrayhsh; 
c. khepy jpl;lkply; mikr;rh;  d. Kjy; mikr;rh; 
e. tpil njhpatpy;iy 
 

33. Sathish Kumar borrowed Rs.52,000 from a money lender at a particular rate of simple 
interest. After 4 years he paid Rs. 79,040 to settle his Debt. At what rate of interest he 
borrowed the money? 
a. 13%  b. 26%  c. 23%  d. 16%  e. Answer not known 
rjp~;Fkhh; vd;gth; xU fld; toq;Fk; eghplkpUe;J 52>000I xU Fwpg;gpl;l jdptl;b 
tPjj;jpy; fldhfg; ngw;whh;. 4 Mz;Lfs; fopj;J rjP~;Fkhh; &. 79>040I nkhj;j 
njhifahf nrYj;jpdhh; vdpy;> tl;b tPjj;ijf; fhz;f. 
a. 13%  b. 26%  c. 23%  d. 16%  e. tpil njhpatpy;iy 
 

34. The ideal level of fasting sugar is 
a. <110 mg/dL  b. 120 – 130 mg/dL  c. 135 – 150 mg/dL 
d. >150 mg/dL  e. Answer not known 
cz;zh epiyapy; ,uj;jj;jpy; rh;f;fiu msT vt;tsT ,Uj;jy; ey;yJ? 
a. <110 mg/dL  b. 120 – 130 mg/dL  c. 135 – 150 mg/dL 
d. >150 mg/dL  e. tpil njhpatpy;iy 
 

35. 219 Days = _____ year. 

a. 
73

4
  b. 

73

122
  c. 

5

3
  d. 

3

5
  e. Answer not known 

219 ehl;fs; = ______ Mz;L. 

a. 
73

4
  b. 

73

122
  c. 

5

3
  d. 

3

5
  e. tpil njhpatpy;iy 

 
36. In a certain code language, if Bread is called Butter, Butter is called Milk, Milk is called 

Shirt, Shirt is called Shoe, Shoe is called Bicycle,. Bicycle is called Watch, Watch is called 
Aeroplane, and Aeroplane is called Ship. Then which of the following indicates time in 
that language? 
a. Watch   b. Ship    c. Bicycle 
d. Aeroplane   e. Answer not known 
xU Fwpg;gpl;l FwpaPl;L nkhopapy;> nuhl;b ntz;nza; vd;Wk;> ntz;nza; ghy; vd;Wk;> 
ghy; rl;il vd;Wk;> rl;il fhyzp vd;Wk> fhyzp vd;Wk;> fhyzp irf;fps; vd;Wk;> 
irf;fps; iffbfhuk; vd;W iffbfhuk; tpkhdk; vd;Wk;> tpkhdk; fg;gy; vd;Wk; 
miof;fg;gLfpwJ. gpd;tUgitapy; me;j nkhopapy; Neuj;ij Fwpg;gJ vJ? 
a. iffbfhuk;  b. fg;gy;   c. irf;fps; 
d. tpkhdk;   e. tpil njhpatpy;iy 
 

37. What is the probability of getting more than 4. When a dice is thrown? 

a. 
1

2
  b. 

1

3
  c. 

2

3
  d. 

1

6
  e. Answer not known 

xU gfil cUl;lg;gLk; NghJ 4 I tpl nghpa vz; tpOtjw;fhd epfo;jfT vd;d? 

a. 
1

2
  b. 

1

3
  c. 

2

3
  d. 

1

6
  e. tpil njhpatpy;iy 
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38. At what rate percentage p.a. will Rs.5,625 amount to Rs.6,084 in 2 years at compound 
interest? 
a. 4%  b. 6%  c. 8%  d. 10%  e. Answer not known 
$l;L tl;b Kiwapy; 2 Mz;Lfspy; &.5>625 mry; &.6>084 jUkhdhy; Xh; Mz;Lf;F 
$l;L tl;b tPjk; vd;d? 
a. 4%  b. 6%  c. 8%  d. 10%  e. tpil njhpatpy;iy 
 

39. If the curved surface area of a right circular cylinder is 704 sq.cm. and height is 8 cm, 

find the volume of the cylinder. 
22

7

 

= 
 

 

a. 4928 cu.cm.   b. 2464 cu.cm.  c. 1088 cu.cm. 
d. 3646 cu.cm.   e. Answer not known 
xU Neh;tl;l cUisapd; tisgug;G 704 r.nr.kP. kw;Wk; mjd; cauk; 8 nr.kP. vdpy; 

cUisapd; fs msit fhz;f. 
22

7

 

= 
 

 

a. 4928 f.nr.kP.   b. 2464 f.nr.kP  c. 1088 f.nr.kP 
d. 3646 f.nr.kP.   e. tpil njhpatpy;iy 
 

40. Find the area of an equilateral triangle whose perimeter is 180 cm. 

a. 15 3 cm2   b. 600 3 cm2    c. 900 3  

d. 3600 3 cm2  e. Answer not known 
xU rkgf;f Kf;Nfhzj;jpd; Rw;wsT 180 nr.kP vdpy; mjd; gug;gsT fhz;f. 

a. 15 3 cm2   b. 600 3 cm2    c. 900 3  

d. 3600 3 cm2  e. tpil njhpatpy;iy 

 
41. If every side of a rectangle is doubled, then its area becomes _____ times. 

a. 2  b. 4  c. 6  d. 3  e. Answer not known 
xU nrt;tfj;jpd; xt;nthU gf;fKk; ,U klq;fhFk; NghJ mjDila gug;gsT _____ 
klq;fhFk;. 
a. 2  b. 4  c. 6  d. 3  e. tpil njhpatpy;iy 
 

42. The area of the rhombus is 128 sq.cm and the length of one diagonal is 32 cm. The 
length of the other diagonal is 
a. 12 cm b. 8 cm c. 4 cm d. 20 cm e. Answer not known 
gug;gsT 128 r.nr.kP kw;Wk; xU %iytpl;l msT 32 nr.kP nfhz;l rha;rJuj;jpd; 
kw;nwhU %iytpl;l msT 
a. 12 nr.kP b. 8 nr.kP c. 4 nr.kP d. 20 nr.kP e. tpil njhpatpy;iy 
 

43. Find the LCM of (5x - 10), (5x2 - 20) 
a. 5(x2 - 4)   b. 5(x - 2)    c. 5(x2 + 4) 
d. 5 (x + 2)   e. Answer not known 
(5x - 10), (5x2 - 20) kPr;rpW nghJ klq;iff; fhz;f. 
a. 5(x2 - 4)   b. 5(x - 2)    c. 5(x2 + 4) 
d. 5 (x + 2)   e. tpil njhpatpy;iy 
 

44. Complete the series 4, 5, 9, 16, 26, _____ 
a. 39  b. 28  c. 38  d. 58  e. Answer not known 
njhliu epiwT nra;f 4> 5> 9> 16> 26> _____. 
a. 39  b. 28  c. 38  d. 58  e. tpil njhpatpy;iy 
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45. How many terms of the series 5 + 9 + 13 + …. must be taken so that their sum is 189? 

a. 8  b. 9  c. 10  d. 11  e. Answer not known 
vd;w njhlhpy; vj;jid cWg;Gf;fs; tiu $l;bdhy; $Ljy; 189 fpilf;Fk;? 
a. 8  b. 9  c. 10  d. 11  e. tpil njhpatpy;iy 
 

46. The next term of the series 2, 5, 10, 17, 26, 37, 50 is 
a. 65  b. 43  c. 54  d. 72  e. Answer not known 
2, 5, 10, 17, 26, 37, 50 vd;w njhlhpd; mLj;j cWg;G 
a. 65  b. 43  c. 54  d. 72  e. tpil njhpatpy;iy 
 

47. Find the HCF: a2 – 8a + 16, (a + 3)(a - 4)(a2 – a - 12). 
a. (a - 3)2   b. (a - 4)2   c. (a + 3)2 

d. (a + 4)2   e. Answer not known 
kP.ngh.t. fhz;f: a2 – 8a + 16, (a + 3)(a - 4)(a2 – a - 12). 
a. (a - 3)2   b. (a - 4)2   c. (a + 3)2 

d. (a + 4)2   e. tpil njhpatpy;iy 
 

48. Find the HCF of the number 400 and 560 
a. 40  b. 50  c. 60  d. 80  e. Answer not known 
400 kw;Wk; 560f;F kPg;ngU nghJ tFj;jp fhz;. 
a. 40  b. 50  c. 60  d. 80  e. tpil njhpatpy;iy 
 

49. Find the next term in the series BMO, EOQ, HQS,  ? 
a. LMN b. SOV c. SOW d. KSU e. Answer not known 
njhlhpy; mLj;J tUtij fhz;f BMO, EOQ, HQS,  ? 
a. LMN b. SOV c. SOW d. KSU e. tpil njhpatpy;iy  
 

50. T 49 S 64, R 81 Q 100, P 124 O 144, __?_ 
a. N 169 M 196   b. N 160 M 190  c. N 164 M 194 
d. U 36 T 46    e. Answer not known 
T 49 S 64, R 81 Q 100, P 124 O 144, __?_ 
a. N 169 M 196   b. N 160 M 190  c. N 164 M 194 
d. U 36 T 46    e. tpil njhpatpy;iy 
 

51. If a : b = 2 : 5, then the value of 5a – b : a + b. 
a. 1 : 1  b. 5 : 2  c. 5 : 7  d. 7 : 5  e. Answer not known 
a : b = 2 : 5 vdpy; 5a – b : a + b d; kjpg;G 
a. 1 : 1  b. 5 : 2  c. 5 : 7  d. 7 : 5  e. tpil njhpatpy;iy 
 

52. The ratio of 1 m to 50 cm is 
a. 1 : 50 b. 50 : 1 c. 2 : 1  d. 1 : 2  e. Answer not known 
1kP f;Fk; 50 nr.kP f;Fk; cs;s tpfpjk; 
a. 1 : 50 b. 50 : 1 c. 2 : 1  d. 1 : 2  e. tpil njhpatpy;iy 
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53. P alone can do 
1

2
 of a work in 6 days and Q alone can do 

2

3
 of the same work in 4 days. 

How many days will they finish 
3

4
of the work, working together? 

a. 2 days    b. 3 days   c. 4 days 
d. 5 days    e. Answer not known 

P vd;gth; jdpNa xU Ntiyapd; 
1

2
 gFjpia 6 ehl;fspYk; Q vd;gth; jdpNa mNj 

Ntiyapd; 
2

3
 gFjpia 4 ehl;fspYk; Kbg;gh;. ,UtUk; ,ize;J me;j Ntiyapd; 

3

4
  

gFjpia vj;jid ehl;fspy; Kbg;gh;? 
a. 2 ehl;fs;    b. 3 ehl;fs;   c. 4 ehl;fs; 
d. 5 ehl;fs;    e. tpil njhpatpy;iy 
 

54. A and B can do a piece of work in 12 days, while B and C can do it in 15 days, whereas 
A and C can do it in 20 days. How along each take to do the same work? 
a. A – 20 days, B – 30 days, C – 60 days 
b. A – 30 days, B – 60 days, C – 30 days 
c. A – 30 days, B – 20 days, C – 60 days 
d. A – 60 days, B – 20 days, C – 30 days 
e. Answer not known 
A kw;Wk; B MfpNahh; xU Ntiyia 12 ehl;fspYk; B kw;Wk; C MfpNahh; mij 15 
ehl;fspYk; A kw;Wk; C MfpNahh; mij 20 ehl;fspYk; Kbg;gh;. xt;nthUtUk; 
jdpj;jdpNa me;j Ntiyia vj;jid ehl;fspy; Kbg;gh;? 
a. A – 20 ehl;fs;> B – 30 ehl;fs; C – 60 ehl;fs;   
b. A – 30 ehl;fs;> B – 60 ehl;fs; C – 30 ehl;fs; 
c. A – 30 ehl;fs;> B – 20 ehl;fs; C – 60 ehl;fs; 
d. A – 60 ehl;fs;> B – 20 ehl;fs; C – 30 ehl;fs; 
e. tpil njhpatpy;iy 
 

55. Simplify: 
1 1 1 3 1

1
2 2 4 4 2

     
−  −  − =     

     
 

a. 
1

2
  b. 

3

4
  c. 

1

4
  d. 

1

2

−
  e. Answer not known 

RUf;Ff: 
1 1 1 3 1

1
2 2 4 4 2

     
−  −  − =     

     
 

a. 
1

2
  b. 

3

4
  c. 

1

4
  d. 

1

2

−
  e. tpil njhpatpy;iy 

 
56. 25% of 72% of 80 = ? 

a. 15  b. 20  c. 60  d. 80  e. Answer not known 
80 ,d; 75% ,y; 25% = ? 
a. 15  b. 20  c. 60  d. 80  e. tpil njhpatpy;iy 
 

57. The percentage of literacy in a village is 47%. Find the number of illiterates in the 
village if the population is 7500. 
a. 3975   b. 3925    c. 3775 
d. 3525   e. Answer not known 
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7500 kf;fs; njhif nfhz;l Chpy;> gbj;jth;fs; 47% vdpy; gbf;fhjth;fs; vj;jid 
Ngh;? 
a. 3975   b. 3925    c. 3775 
d. 3525   e. tpil njhpatpy;iy 
 

58. Article 51A(h) has stated 
a. to value and preserve the rich heritage of our composite culture. 
b. to develop the scientific temper, humanism and the sprit of inquiry and reform. 
c. to defend the country and render national service when called upon to do so. 
d. to uphold and protect the sovereignty, unity and integrity of India 
e. Answer not known 
rl;lg;gphpT 51A(h) tFj;Jiug;gJ 
a. ekJ fyg;GUthdg; gz;ghl;bd; tskhh;e;j kuGr; nry;tj;ij kjpj;Jg; ghJfhj;jy;. 
b. mwptpayhh;e;j csg;ghq;F> kdpj Neak;> Ma;e;J njspe;J rPh;jpUj;Jk; Mh;tk; 
Mfpatw;iw tsh;j;jy;. 
c. Ntz;Lq;fhy; ehl;bidf; fhj;jy; kw;Wk; ehl;Lg;gzp Mw;Wjy; 
d. ,e;jpa ehl;bd; ,iwahz;ik> xw;Wik> xUikg;ghL Mfpatw;iw Xq;fr; nra;J 
Xk;gpf;fhj;jy;. 
e. tpil njhpatpy;iy 
 

59. Which halo carbon has long atmospheric lifetime? 
a. Chlorofluoro Carbons   b. Hydro Chlorofluoro Carbons 
c. Methyl Bromides    d. Methyl Chloroform 
e. Answer not known 
ve;j `hNyhfhh;gd; tiffSf;F tspkz;ly Mal;fhyk; mjpfk;? 
a. FNshNuhGNshNuh fhh;gd;fs;  b. i`l;NuhFNshNuhGNshNuh fhh;gd;fs; 
c. nkj;jpy; GNuhikLfs;   d. nkj;jpy; FNshNuhghh;k; 
e. tpil njhpatpy;iy 
 

60. Memorization of Information based on repetition is called 
a. Conceptual learning    b. Rote learning 

c. Meaningful learning    d. Active learning 
e. Answer not known 
jpUk;g jpUk;g jftiy kdjpy; gjpa itg;gJ ____ vd;W miof;fg;gLfpwJ. 
a. fw;gidahd fw;wy;    b. kdg;ghlk; nra;J fw;wy; 
c. nghUswpe;J fw;wy;    d. nraypy; fw;wy; 
e. tpil njhpatpy;iy 
 

61. The genotypic ratio for monohybrid cross is 
a. 3:1  b. 9:7  c. 1:2:1  d. 9:3:3:1 e. Answer not known 
xU gz;G fyg;gpd; [Pdhf;f tpfpjk; vJ? 
a. 3:1  b. 9:7  c. 1:2:1  d. 9:3:3:1 e. tpil njhpatpy;iy 
 

62. Gammexane is the trade name of which of the following? 
a. Benzene hexachloride  b. Ascorbic acid  c. Chloramine – T 
d. DDT    e. Answer not known 
Nfnkf;]pd; vd;gJ fPo;fhz;gdtw;wpy; vjd; tzpfg; ngah;? 
a. ngd;rPd; n`f;~hFNshiuL   b. m];fhh;gpf; mkpyk; 
c. FNshukpd;-b     d. DDT 
e. tpil njhpatpy;iy 
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63. Cadmipone is a mixture of which of the following? 

(i) Cadmium sulphide 
(ii) Barium sulphate 
(iii) Cadmium chloride 
(iv) Cadmium sulphate 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (ii) and (iv) only 
d. (i), (ii) and (iv) only  e. Answer not known 
Nfl;kpNghd; vd;gJ fPNo cs;s vtw;wpd; fyit? 
(i) Nfl;kpak; ry;igL 
(ii) Nghpak; ry;Ngl; 
(iii) Nfl;kpak; FNshiuL 
(iv) Nfl;kpak; ry;Ngl; 
a. (i) kw;Wk; (ii) kl;Lk;  b. (ii) kw;Wk; (iii) kl;Lk; c. (ii) kw;Wk; (iv) kl;Lk; 
d. (i), (ii) kw;Wk; (iv) kl;Lk;  e. tpil njhpatpy;iy 
 

64. The power of lens is measured in  
a. Diopter    b. Aspheric   c. Newton 
d. Gauss    e. Answer not known 
nyd;rpd; jpwid _____ My; msf;fyhk;. 
a. ilahg;lh;    b. m];nghpf;   c. epA+l;ld; 
d. fh];    e. tpil njhpatpy;iy 
 

65. Rapid collapsing of massive stars are generating very high heat then the wident 
explosion is called 
a. White Dwarf   b. Photon diffusion  c. Steller evolution 
d. Supernova explosion  e. Answer not known 
vil mjpfkhd el;rj;jpuq;fs; tpiuthf NkhJk;NghJ mjpf ntg;gj;ijAk;> nghpa 
ntbg;igAk; cUthf;Ftij _____ vd miof;fyhk;. 
a. nts;is bthh;g;   b. Nghl;lhd; guty;  c. ];nly;yh; ghpzhkk; 
d. #g;gh;Nehth ntbg;G  e. tpil njhpatpy;iy 
 

66. Which telescope captured a magnetic field image around a black hole in M87 galaxy? 
a. Hubble telescope     b. Event horizon telescope  

c. Magellan telescope    d. Thirty-meter telescope 
e. Answer not known 
ve;j njhiyNehf;fp M87 tpz;kPd; kz;lyj;jpy; cs;s fUe;Jisiar; Rw;wpAs;s 
fhe;jg; Gyj;ij glk;gpbj;jJ? 
a. `g;gps; njhiyNehf;fp   b. epfo;T mbthd njhiyNehf;fp  
c. khnfy;yd; njhiyNehf;fp  d. Kg;gJ-kPl;lh; njhiyNehf;fp 
e. tpil njhpatpy;iy 
 

67. Using a website to pour out one’s grievances is called 
a. cyber venting   b. web hate   c. web anger 
d. cyber abuse   e. Answer not known 
xU kdpjdpd; Ntjidfis tiyjsk; %yk; nfhl;Ltjpd; Kiwf;F ngah; 
a. irgh; ntd;bq;   b. ntg; N`l;  c. ntg; Mq;fh; 
d. irgh; mgpA+];   e. tpil njhpatpy;iy 
 

68. Who presented the First Union Budget in 1947? 
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a. Indira Gandhi  b. John Mathai  c. R.K. Shanmukham Chetty 
d. Shankar Rao Chavan e. Answer not known 
1947y; Kjy; A+dpad; gl;n[l;il jhf;fy; nra;jth; 
a. ,e;jpuh fhe;jp  b. [hd; khj;jha;  c. R.K. rz;Kfk; nrl;b 
d. rq;fh; uht; rthd;  e. tpil njhpatpy;iy 
 

69. Which one of the following employment schemes is the most momentous to strengthen 
the livelihood resource base of rural poor? 
a. Atmanirbhar Bharat    
b. Mahatma Gandhi National Rural Employment Guarantee Act 
c. Pradhan Mantri Mudra Yojana 
d. PLI Scheme (Production Linked Incentive) 
e. Answer not known 
fpuhkg;Gw Viofspd; tho;thjhu Mjhuq;fis tYg;gLj;j ve;j Ntiytha;g;Gj; jpl;lk; 
kpfTk; Kf;fpakhdJ? 
a. Mj;keph;gh; ghuj; 
b. kfhj;khfhe;jp Njrpa Cuf Ntiytha;g;G cWjpj; jpl;lk; 
c. gpujk ke;jphpapd; Kj;uh jpl;lk; 
d. cw;gj;jp top ,ize;j Cf;fj; njhifj; jpl;lk; 
e. tpil njhpatpy;iy 
 

70. Among the political parties of India listed below, which one of them has the Elephant as 
the symbol? 
a. National Congress party    b. Communist party of India 
c. Bahujan Samaj party    d. Rashtriya Janata Dal 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s ,e;jpa murpay; fl;rpfSf;Fs; ‘ahid’ ve;jf; fl;rpapd; 
rpd;dkhFk;? 
a. Njrpa fhq;fpu]; fl;rp    b. ,e;jpa fk;A+dp];l; fl;rp  
c. gF[d; rkh[; fl;rp    d. uh~;l;hpa [djh jsk; 
e. tpil njhpatpy;iy 
 

71. Which river in the southern peninsular has the second largest basin covering 10% of the 
area of India? 
a. Godavari    b. Ganga   c. Narmada 
d. Cauvery    e. Answer not known 
,e;jpahtpy; njw;F jPgfw;g gFjpapy; cs;s 10 rjtPjg; gug;gsit cs;slf;fpa> 
,uz;lhtJ nghpa gLifiaf; nfhz;l ejp vJ? 
a. Nfhjhthp    b. fq;fh   c. eh;kjh 
d. fhtphp    e. tpil njhpatpy;iy 
 

72. ______ is the state flower of Tamil Nadu 
a. Jadminum grandiflorum    b. Curcuma longa 
c. Gossypium arboretum    d. Gloriosa superba 
e. Answer not known 
_______ jkpo;ehl;bd; khepy kyuhf tpsq;FfpwJ. 
a. [h];kpdk; fpuhz;b/GNshuk;   b. fh;Fkh yhq;fh 
c. fh]pg;gpak; Mh;Nghhpak;    d. FNshhpNrh #gh;gh 
e. tpil njhpatpy;iy 
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73. The density of population in Tamilnadu as per 2011 census. 
a. 450 persons per sq. km    b. 455 persons per sq. km 
c. 550 persons per sq. km    d. 555 persons per sq. km 

e. Answer not known 
2011 kf;fs;njhif fzf;nfLg;gpd;gb jkpo;ehl;bd; kf;fs; mlh;j;jp 
a. rJu fpNyh kPl;lUf;F 450 egh;fs; b. rJu fpNyh kPl;lUf;F 455 egh;fs; 
c. rJu fpNyh kPl;lUf;F 550 egh;fs; d. rJu fpNyh kPl;lUf;F 555 egh;fs;  
e. tpil njhpatpy;iy 
 

74. Which among this is defined as the forestry of the people, for the people and by the 
people? 
a. Community forestry  b. Social forestry  c. Agro-forestry 
d. Commercial forestry  e. Answer not known 
,jpy; ve;j fhL kf;fspDila> kf;fSf;fhf kw;Wk; kf;fshy; Vw;gLj;jg;gl;l tdk; 
vd;W tiuaWf;fg;gLtJ? 
a. rKjhaf; fhLfs;   b. r%ff; fhLfs;  c. Ntshz; fhLfs; 
d. tzpff; fhLfs;   e. tpil njhpatpy;iy 
 

75. Chambal river is a tributary of 
a. Ganga    b. Yamuna   c. Indus 
d. Brahmaputra   e. Answer not known 
rhk;gy; ejp _____d; Jiz ejpahFk;. 
a. fq;fh    b. aKdh   c. rpe;J 
d. gpuk;kGj;uh    e. tpil njhpatpy;iy 
 

76. North-West of Udaipur the Aravalli hills are called as 
a. Jarga Hills    b. Kaimur Hills  c. Khasi Hills 
d. Baba-Budan Hills   e. Answer not known 
cja;G+hpd; tlNkw;Nf Muty;yp kiyfs; ,t;thW miof;fg;gLfpwJ. 
a. [hh;fh kiyfs;   b. fha;%h; kiyfs;  c. fhrp kiyfs; 
d. ghgh-Gjd; kiyfs;  e. tpil njhpatpy;iy 
 

77. The Phenotype classification of human races have broadly divided on the basis of  
a. Colour of their skin   b. Mental quality of a person 
c. Emotions, interests and manner  d. Quality and quantity of food intake 
e. Answer not known 
kdpj ,dq;fspd; gpNdhilg; tifg;ghL _____ mbg;gilapy; gue;j mstpy; 
gphpf;fg;gl;Ls;sJ. 
a. Njhspd; epwk;      
b. xU eghpd; kdjpd; gz;G 
c. czh;Tfs;> Mh;tq;fs; kw;Wk; elj;ij  
d. czT> cl;nfhs;Sk; juk; kw;Wk; msT 
e. tpil njhpatpy;iy 
 

78. ____ was the first musician to use the word Raga. 
a. Matanaga    b. Vidyaranya  c. Rurandardasa 
d. Tyagaraja    e. Answer not known 
uhfk; vd;w thh;j;ijiag; gad;gLj;jpa Kjy; ,irf; fiyQh; _____ Mthh;. 
a. kjdfh    b. tpj;ahuz;ah  c. Uue;jh;jhrh 
d. jpahfuh[h   e. tpil njhpatpy;iy 



 

15 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

 
79. Harisena engraved an inscription on the stone pillar of 

a. Samudra Gupta   b. Asoka  c. Bindusara 
d. Chandra Gupta-I   e. Answer not known 
_____ vd;gthpd; fy;J}zpy; mhpNrdh; fy;ntl;ilg; nghwpj;jhh;. 
a. rKj;jpu Fg;jh;   b. mNrhfh;  c. gpe;Jrhuh; 
d. Kjyhk; re;jpu Fg;jh;  e. tpil njhpatpy;iy 
 

80. Match List I with List II: 
List I     List II 
A. Ziauddin Barani   1. Tabaqat-i-Nasiri 
B. Amir Khusrau   2. Tarikh-i-Firuz Shahi 
C. Alberuni    3. Miftah ul Futuh 
D. Minhaj-us-Siraj   4. Tarikh Al Hind 
 A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 1 2 
e. Answer not known 
gl;bay; I I gl;bay; II Tld; nghUj;Jf. 
gl;bay; I   gl;bay; II 
A. [pahTjPd; guhdp  1. jg;ghfj;-,-e];hp 
B. mkPh;F];U   2. jhhpf;-,-ngNuh~; ~hfp 
C. my;ngUdp   3. kp/g;lh-My;-gj;J 
D. kpd;̀ h[; c]; rpuh]; 4. jhhpf;-my;-`pe;j; 
  A B C D 
a. 3 4 2 1 
b. 2 3 4 1 
c. 4 3 2 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

81. Who was the first Maratha king in Thanjavur? 
a. Shivaji    b. Venkoji   c. Serfoji – I 
d. Tukoji    e. Answer not known 
jQ;rhT+hpd; Kjy; kuhl;ba murd; ahh;? 
a. rpth[p    b. ntq;Nfh[p   c. Kjyhk; ruNgh[p 
d. Jf;Nfh[p    e. tpil njhpatpy;iy 
 

82. Which one of the following pairs is not correctly matched? 
Emperors    Nobles 
a. Babur   : Tardi Beg 
b. Humayun   : Bairamkhan 
c. Jehangir   : Sawai Jai Singh 
d. Aurangazeb  : Jaswant Singh 
e. Answer not known 
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gpd;tUtdtw;wpy; jtwhd nghUj;jj;ijf; Fwpg;gpLf. 
Nguurh;fs;   gpuGf;fs; 
a. ghgh;  : lh;bngf; 
b. `_khA+d;  : iguhk;fhd; 
c. [`hq;fPh;  : rtha; n[a; rpq; 
d. mTuq;frPg;  : [];te;j; rpq; 
e. tpil njhpatpy;iy 
 

83. The big Stupa was constructed at Bharhut in Nagod State during the period of  
a. Sungas    b. Mauryas   c. Guptas 
d. Kushanas    e. Answer not known 
ve;j Ml;rp fhyj;jpy; ehNfhl; khepyj;jpYs;s gh;`Pl;by; xU nghpa ];J}gk; 
fl;lg;gl;lJ? 
a. Rq;fh;fs;    b. nkshpah;fs;  c. Fg;jh;fs; 
d. F~hzh;fs;   e. tpil njhpatpy;iy 
 

84. During the Medieval Indian period the term Diwan – i – Arz refers to  
a. Military Department   b. Religious Department 
c. Agricultural Department  d. Education Department 
e. Answer not known 
kj;jpa ,e;jpahtpy; jpthd;-I-mh;]; vd;w nrhy; Fwpg;gJ. 
a. uhZtj; Jiw   b. rkaj; Jiw  c. tptrhaj; Jiw 
d. fy;tpj; Jiw   e. tpil njhpatpy;iy 
 

85. Which of the following is an essential attribute of the state? 
a. Democracy   b. Secularism   c. Sovereignty 
d. Socialism    e. Answer not known 
gpd;tUtdtw;wpy; vJ khepyj;jpd; ,d;wpaikahj gz;ghFk;? 
a. [dehafk;    b. kjr;rhh;gpd;ik  c. ,iwahz;ik 
d. nghJeyf; Nfhl;ghL  e. tpil njhpatpy;iy 
 

86. The separate electorate was introduced in India for the first time under  
a. The Act of 1909   b. The Act of 1919  c. The Act of 1935  
d. None of the above  e. Answer not known 
,e;jpahtpy; Kjd;Kiwahf jdp thf;fhsh; Kiw rl;lk; nfhz;L tug;gl;l Mz;L rl;lk; 
a. 1909k; Mz;L rl;lk;  b. 1919k; Mz;L rl;lk; c. 1935k; Mz;L rl;lk; 
d. Nkw;fz;litfspy; vJTkpy;iy e. tpil njhpatpy;iy 
 

87. _____ in Part XI of the Indian Constitution deal with the administrative relations 
between the centre and the states. 
a. Article 245 to 255   b. Articles 264 to 293 c. Articles 256 to 263 

d. Articles 294 to 300  e. Answer not known 
,e;jpa murpayikg;gpd; gFjp XI y; _____ kj;jpa – khepy muRfSf;F ,ilNaahd 
eph;thf  cwTfisg; gw;wpaJ. 
a. tpjp 245 Kjy; 255 tiu   b. tpjp 264 Kjy; 293 tiu 
c. tpjp 256 Kjy; 263 tiu   d. tpjp 294 Kjy; 300 tiu 
e. tpil njhpatpy;iy 
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88. _____ was the first state to establish Panchayati Raj. 
a. Maharashtra   b. Rajasthan   c. Bihar 
d. Kerala    e. Answer not known 
gQ;rhaj;J Kiwia Kjypy; eilKiwg;gLj;jpa khepyk; 
a. k`huh~;buk;   b. uh[];jhd;   c. gPfhh; 
d. Nfush    e. tpil njhpatpy;iy 
 

89. _____ acts as the ex-officio Chairman of Rajya Sabha. 
a. The President     b. The Prime Minister   
c. The Chief Justice of Supreme Court  d. The Vice-President 
e. Answer not known 
_____ khepyq;fsitapd; Kd;dhy; jiytuhfr; nray;gLfpwhh;. 
a. FbauRj;jiyth;  b. gpujk; ke;jphp  c. cr;rePjpkd;w jiyik ePjpgjp 
d. Jizf; FbauRj;jiyth; e. tpil njhpatpy;iy 
 

90. What does Article 351 of the Indian Constitution refer to? 
a. It shall be the duty of the union to promote the spread of the Hindi Language and 

heritage of our composite culture. 
b. Defend the country 
c. Safeguard public property 
d. Develop the scientific temper and spirit of inquiry 
e. Answer not known 
,e;jpa murpayikg;gpy; 351tJ tpjp vij Fwpf;fpwJ? 
a. ,e;jp nkhopapd; gutiy Cf;Ftpg;gJ kw;Wk; gy;tifahd fyhr;rhuj;jpd; 
ghuk;ghpaj;ijg; ghJfhj;jy; xd;wpaj;jpd; flikahFk;. 
b. ehl;ilg; ghJfhj;jy; 
c. nghJ nrhj;Jf;fisg; ghJfhj;jy; 
d. mwptpay; kdg;ghd;ikiaAk; tprhhpf;Fk; kdg;ghd;ikiaAk; tsh;j;Jf; nfhs;Sjy; 
e. tpil njhpatpy;iy 
 

91. Which committee was constituted to assess the profitability of public sector banks? 
a. Kelkar committee     b. Narasimhan committee 

c. Jha committee     d. Raja Chelliah committee 
e. Answer not known 
nghJj;Jiw tq;fpfspd; yhgfuj;ij kjpg;gPL nra;tjw;fhf mikf;fg;gl;l FO  
a. Nfy;fh; FO   b. eurpk;kk; FO  c. [h FO 
d. uh[h nry;iyah FO  e. tpil njhpatpy;iy 
 

92. The state shall try to secure the improvement of public health is according to which of 
the following article. 
a. Article 47    b. Article 48   c. Article 43 
d. Article 45    e. Answer not known 
muR nghJ Rfhjhuj;ij Nkk;gLj;j Ntz;Lk; vd;gJ fPo;;f;fhZk; tpjpfspy; vJ 
rhpahdJ? 
a. tpjp 47    b. tpjp 48   c. tpjp 43 
d. tpjp 45    e. tpil njhpatpy;iy 
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93. Which among the following commissions recommended the reorganisation of Indian 
States on linguistic basis? 
a. Fazal Ali Commission    b. K.M. Panikkar Commission 
c. Bhanu Pratap Singh Commission  d. Upendra Commission 
e. Answer not known 
fPo;f;fhZk; Mizaq;fspy; vJ ,e;jpa khepyj;ij nkhopthhpahf kWrPuikf;f 
ghpe;Jiuj;jJ? 
a. /gry; myp Mizak;    b. Nf.vk;.gdpf;fh; Mizak; 
c. ghDgpujhg; rpq; Mizak;   d. cNge;juh Mizak; 
e. tpil njhpatpy;iy 
 

94. The bank log of unemployed persons during the Eleventh plan (2007-12) was around 
a. 28 million    b. 37 million    c. 42 million 
d. 48 million    e. Answer not known 
gjpndhd;whtJ jpl;lf;fhyj;jpy; (2007-12) ____ msT vz;zpf;ifapyhd 
Ntiyaw;wth;fspd; gpd;dpizg;igf; nfhz;bUe;jJ. 
a. 28 kpy;ypad;   b. 37 kpy;ypad;  c. 42 kpy;ypad; 
d. 48 kpy;ypad;   e. tpil njhpatpy;iy 
 

95. Which one of the following pair is not matched correctly? 
a. SANKALP  - Ministry of Skill Development 
b. STRIVE  - Ministry of MSME 
c. SAMPADA - Ministry of Food processing 
d. SAUBHAGYA - Ministry of Power 
e. Answer not known 
fPNo nfhLf;fg;gl;litfSs; vit rhpahfg; nghUj;jg;gltpy;iy? 
a. rq;fy;g;  - jpwd; tsh;g;G mikr;rfk; 
b. ];biut;  - MSME mikr;rfk; 
c. rk;gjh  - czT nrayhf;f mikr;rfk; 
d. nrsghf;fpah - rf;jpjpwd; mikr;rfk; 
e. tpil njhpatpy;iy 
 

96. Dr. Y.V. Reddy was appointed the Chairman of the  
a. Eleventh Finance Commission  b. Twelfth Finance Commission 
c. Thirteenth Finance Commission d. Fourteenth Finance Commission 
e. Answer not known 
lhf;lh; Y.V. nul;b _____ tpd; jiytuhf epakpf;fg;gl;lhh;. 
a. 11tJ epjpf;FO  b. 12tJ epjpf;FO  c. 13tJ epjpf;FO 
d. 14tJ epjpf;FO  e. tpil njhpatpy;iy 
 

97. Which one of the followings is not the main objective of Monetary Policy? 
a. Full Employment     b. Encourage Capital Market 
c. Price Stability     d. Maintaining Balance of Payments 
e. Answer not known 
gpd;tUtdtw;wpy; vJ gztpay; Nfhl;ghl;bd; Kf;fpa Fwpf;Nfhs; md;W? 
a. KO Ntiytha;g;G     b. %yjdr; re;ijia Cf;Ftpj;jy; 
c. tpiy epiyj;jd;ik    d. nrYj;Jepiy ,Ug;gpd; guhkhpj;jy; 
e. tpil njhpatpy;iy 
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98. _____ Economy is completely incorporated into the Principle of Karl Marx. 
a. Socialist    b. Capitalist   c. Mixed 
d. Dualistic    e. Answer not known 
_____ mikg;ghdJ fhh;y; khh;f;]; nfhs;ifia KOtJkhf cs;slf;fpaJ. 
a. rkjh;k nghUshjhuk;   b. Kjyhspj;Jt nghUshjhuk; 
c. fyg;Gg; nghUshjhuk;   d. ,ul;ilg; nghUshjhuk; 
e. tpil njhpatpy;iy 
 

99. _____ district tops Human Development Index 2017 in Tamilnadu. 
a. Madurai    b. Kanyakumari  c. Chennai 
d. Trichy    e. Answer not known 
jkpo;ehl;by; kdpjts Nkk;ghl;Lf; FwpaPL 2017d;gb _____ khtl;lk; Kjyplk; tfpf;fpwJ. 

a. kJiu   b. fd;dpahFkhp   c. nrd;id 
d. jpUr;rp   e. tpil njhpatpy;iy 
 

100. Match the following: 
List I     List II 
A. Green Revolution  1. Fish production 
B. White Revolution   2. Oil seeds 
C. Blue Revolution   3. Food crops 
D. Yellow Revolution  4. Milk 
 A B C D 
a. 4 3 1 2 
b. 3 4 1 2 
c. 2 4 3 1 
d. 3 2 1 4 
e. Answer not known 
fPo;tUtdtw;iwg; nghUj;Jf: 
njhFg;G I   njhFg;G II 
a. gRikg; Gul;rp  1. kPd; cw;gj;jp 

b. ntz;ikg; Gul;rp  2. vz;nza; tpj;Jf;fs; 
C. ePyg; Gul;rp  3. czTg; gaph;fs; 
D. kQ;rs; Gul;rp  4. ghy; 
 A B C D 
a. 4 3 1 2 
b. 3 4 1 2 
c. 2 4 3 1 
d. 3 2 1 4 
e. tpil njhpatpy;iy  


